AIRE

EN Assembly instructions for Aire small table
DE Montageanleitungen fiir Aire kleiner tisch
FR Instructions de montage pour Aire petite table

HR Upute za montazu Aire mali stoli¢

_VER.O1

05_2025



ASSEMBLY FITTINGS / MONTAGEZUBEHOR / ACCESSOIRES DE MONTAGE / MONTAZNI PRIBOR

3

85/30 cM

P
‘ 6 ALLEN WRENCH KEYS
INBUSSCHLUSSEL
M8~20 CLES ALLEN
IMBUS KLJUCEVI
<) 1%4&5MM
O |
M6x20
EXAMPLES OF CHAISE LONGUE AND ISLAND WITH SMALL TABLE
E BEISPIELE FUR CHAISELONGUE UND INSEL MIT KLEINEM TISCH

EXEMPLES DE CHAISE LONGUE ET D'TLOT AVEC PETITE TABLE
PRIMJER| CHAISE LONGUE | OTOKA SA MALIM STOLICEM

EN | ASSEMBLING A SMALL TABLE

The small table shold be mounted to the base
of an island or chaise longue*. Turn the table
top upside down, place the table supports on
the holes in the top and secure with M6x20
screws to the table base (lllustration 1, 2).
Then place the table on the base, align the
holes and tighten with the m8x20 pan head
screws to the base (lllustration 3 and 4).

DE | ZUSAMMENBAU EINES KLEINEN TISCHES

Der kleine Tisch wird auf dem Untergestell
einer Insel oder Chaiselongue* montiert.
Drehen Sie die Tischplatte um, setzen Sie die
Halterungen auf die Locher in der Platte und
befestigen Sie sie mit M6x20 Schrauben an
der Tischplatte (Abbildung 1, 2). Setzen Sie den
Tisch anschliefiend auf das Moduluntergestell,
richten Sie die Locher aus und ziehen Sie die
M8x20 Flachkopfschrauben am Untergestell
fest (Abbildung 3 und 4).

FR | ASSEMBLER UNE PETITE TABLE

La petite table est montée sur la base d'un Tlot
ou d'une chaise longue*. Retournez le plateau,
placez les supports dans les trous du plateau
et fixez-les au plateau avec des vis M6x20
(illustrations 1 et 2). Placez ensuite la table sur
la base du module, alignez les trous et serrez
les vis a téte lentille bombée M8x20 (illustra-
tions 3 et 4).

HR | MONTIRANJE MALOG STOLICA

Mali stoli¢ se montira na bazu otoka ili chaise
longue-a*. Plo¢u stolica okrenuti naopako,
namjestiti nosace na rupe ploCe i ucvrstiti
vijcima M6x20 s ploc¢om stoli¢a (llustracija 1,
2). Nakon toga staviti stoli¢ na bazu modula,
uskladiti rupe i zategnuti vijcima lecasta glava
M8x20 za bazu (llustracije 314 ).

*The small table 85/30 is mounted on the island 90 or chaise longue 90 or 110, and the 105/30 only on island 110
*Der kleine Tisch 85/30 wird auf der Insel 90 oder Chaiselongue 90 oder 110 montiert, und der 105/30 nur auf der
Insel 110

*La petite table 85/30 se monte sur ['lot 90 ou la chaise longue 90 ou 110, et la 105/30 uniquement sur I'llot 110
*Mali stoli¢ dimenzija 85/30 montira se na otok 90 ili chaise longue 90 or 110, a 105/30 samo na otok 110

2



Bottom view

Ansicht von unten ,
Vue d'en bas
Prikaz odozdo ’M&ZO

—

M8x20




prostoria

HEADQUATERS & PRODUCTION
Pustodol Zacretski 19 ¢

49 223 Sv. Kriz Zacretje
Croatia, Europe

PROSTORIA SHOWROOM CHICAGO
222 W Merchandise Mart Plaza,
3rd Floor, Suite 381

Chicago, IL 60654, US

= info@prostoria.eu
www.prostoria.eu



